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General Instructions :

57/1

(i)
(i)

(iiz)

(iv)

All questions are compulsory.

This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 3 questions of five
marks each.

There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and
properly labelled. .
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SECTION A

1. ¥ @ ANEwed &1 UF o799 IR0 & A ST 8 2 1

Why is banana considered a good example of parthenocarpy ?

2. AFE IR ¥ foeed (Wien) & SA-ITe qfHH FaEy | 1

State two different roles of spleen in the human body.

3. UH 3WA TR UY ¥ swilg (Ussma) Ak o @ | T S F us ey U
¥ oy FE oA | I v fews (32) s-sA ¥ € weui | 1

A garden pea plant produced axial white flowers. Another of ‘the
same species produced terminal violet flowers. Identify the dominant
traits.

4. 3IONG Radsl (Ffdfes FHaN) ¥ @F awd § GOREd U2 & 3w fRa
ST & SgeR Ber @ 2 1

Why is it desirable to use unleaded petrol in vehicles fitted with
catalytic converters ?

5. uAdl ¥ smfies  (UHEW) WS UEAT $E UR S 8 2 39S 1 &9 R,
fafae | 1

Where is acrosome present in humans ? Write its function.

6. frfafaa & 9 fafay - 1
(a) WYHEE-TOH & AU 3UYw waifye ST 98 S Tl HEHe wieis
(b) T H HE TH I H T A
Write the name of the following :

(a) The most common species of bees suitable for apiculture

(b)  An improved breed of chicken

57/1 3 PT:0.
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11.

12.
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T & UE 99 Tl F U@ % A4 YR WH ael §9Ed ) fweh s |
fawrg & ded ¥ 3@ wuWar § w1 fss fasen ST @ ?
Comment on the similarity between the wing of a cockroach and the

wing of a bird. What do you infer from the above, with reference to
evolution ?

TF A9-3G & ®9 ¥ fauAeifer it gfrsr aaRy |

Mention the role of cyanobacteria as a biofertiliser.

(a)
(b)
(a)
(b)

wus B
SECTION B

T Hay (FfFea|) F1 UF T WG oRE §EY |
a8 1 A9 2 o REH S U 9Aes 9y W w3 H 99H §9dr @ 2

Draw a neat labelled diagram of a nucleosome.

Mention what enables histones to acquire a positive charge.

FTHTT WO (ARSI F TS o 99 T A Ay |

State one advantage and one disadvantage of cleistogamy.

(a)
(b)
(a)
(b)

(a)

(b)

grEl ¥ wog ¥ foU d3hdal 1 WA FEl 9 i @ 2
o foye & e oY (FAR) & UF S0 H 9eEqy § 2
Where do the signals for parturition originate from in humans ?

Why is it important to feed the newborn babies on colostrum ?

o-TAFIEES USeH & S & iR Y99 &0 T & aifed S § Iw
TS aRE (J9EY) F UE 99RE@d F el wow &0 foar @ | 39
fafy % fava § wwem oS 5 THEPN STARED @ R-gEi Sttt
T e W9 FH H GeEar faedr @ |

T FH F 9 Oy F us T e =i %' S @ 2
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(a) A recombinant vector with a gene of interest inserted within the
gene of a-galactosidase enzyme, is introduced into a bacterium.
Explain the method that would help in selection of recombinant

colonies from non-recombinant ones.

(b) Why is this method of selection referred to as “insertional

inactivation” ?

13. TH 3T A gU THIRT fF v qwShfaer 5 wed € 2

Explain brood parasitism with the help of an example.

14. frafafEs & G99 § 7= &1 FRO7 06T | 2
(a) WHE T IR TET F A fiud A § |
(b) FB & 9 fF Tymleedl F stwEsaT o w5 I
Give reasons for the following :
(a) The human testes are located outside the abdominal cavity.

(b) Some organisms like honey-bees are called parthenogenetic
animals.

15. 7w 59 8§ W @ 2, T fafey | S9 gEET S A & IRR R TR
Y g 8 2 B
rgan
THel § U 9e A adeet (femeerel) & @ e wed & 9w fafan |
mmmﬁwm-mmmwmaﬁ%?
Name the plant source of ganja. How does it affect the body of the
abuser 7

OR

Name the two special types of lymphocytes in humans. How do they
differ in their roles in immune response ?

57/1 5 PO



16.

(@) HHEEl ¥ ADA % H9E & &I SR BT @ 997 39 HAAE & FHNUT A€
-7 wwifea & 8 2

(b) 39 B (FF) * 99 fafge Y g=al § ADA-DNA & e
FIHR § AR F9 8 T9e Har Sar @ | 9 & dret Sifgrenrst
&1 AW fafew |

(a) Mention the cause and the body system affected by ADA
deficiency in humans.

(b) Name the vector used for transferring ADA-DNA into the
recipient cells in humans. Name the recipient cells.

17. 9T & wifies den fAuiar @ @F 3 ©fes Uiy &l 3631 &d 1= ol

18.

19.

571

qad dgdl Sidl 995 & fod YR w9y fomar ?

How did Ahmed Khan, plastic sacks manufacturer from Bangalore,
solve the ever-increasing problem of accumulating plastic waste ?

i gER (2EwEs) o & o dwifEm & 9 fafee | ms @ date
AT fAfEge | 98 T 3 SR 9% 9 GARd e § 7

Name the bacterium that causes typhoid. Mention two diagnostic
symptoms. How is this disease transmitted to others ?

wuE C
SECTION C
(@) ABO TF Wg & I od gL 9g Vool adl ewiad & IRee
THFRT |
(b) Frafafed F F@OEEY ($HEET) F6ET
(1) K
(i1) i1

(a) Explain the phenomena of multiple allelism and co-dominance
taking ABO blood group as an example.

(b) ~ What is the phenotype of the following :
(1) i

(i) 1



20.

21.

22.

23.

24,
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ST Fren Te (FAfE) ¥ oA ¥ ugiE 0§ A9 @ g oveR ande
foerar & 7 wHERT |

How does industrial melanism support Darwin’s theory of Natural
Selection ? Explain.

(a) wAfvEl 3 gifed Hox iR 9% T9-9R 92 T 99 F THo o § TP
w1 # fafed sHwT 1 ¥ Fwa € 2

(b) TR A W FEFY H gOH § TEA S 99 el Gy gEEmEe |

(a) What is the programme called that is involved in improving
success rate of production of desired hybrid and herd size of
cattle ?

(b)  Explain the method used for carrying this programme for cows.

frafafad § 9 99% &1 4 gHgET

(@)  TEAF-EE (FEREST)

(b) A Y

(¢c) =4 f&%

Explain the function of each of the following :
(a) Coleorhiza

(b) Umbilical cord

(c) Germ pores

dieRs 99 (UM (PCR) & ST &Xd §C &9 U% die-ia 9 91 & yadq
fFg woR fF ST 7 2

How is the amplification of a gene sample of interest carried out
using Polymerase Chain Reaction (PCR) ?

foret dfia wey @9y B w1 9 W HEE YR § g wWeie # Sia9-95%
T Iaar 9 2, fafEw |

Trace the life-cycle of malarial parasite in the human body when
bitten by an infected female Anopheles.

7 PO



25.

26.

27.

28.

57/1

DNA & &l Teferl @ & S@ a&vi & o ase |

A4
E.coli # &% AW & it T=Aras o4 fhg YR ofFT ganm w@ & 2
List the salient features of double helix structure of DNA.

OR

How are the structural genes activated in the lac operon in E. coli ?

I WHE s s EEE g4l ¢ 3R Wy wihvis ¥ fou s @

f | fFE &7 STl B FeEdl ¥ 39 H9H & Y SifSw |

Alien species are highly invasive and are a threat to indigenous

species. Substantiate this statement with any three examples.

(a) FoEElTEd FFFHMART § | BN W oawig & Ukl @ 9 efq @ 8 |
TH TET & 7 89 o4 & fou ueE W9 aer oFifa & 9w fafae #ik

guEY o |

(b) =% F U ¥ e o W sfEE e ¥ o 3w a5

9 & 9 (FFR) & AW fafae |

(a) Tobacco plants are damaged severely when infested with

Meloidegyne incognitia. Name and explain the strategy that is

adopted to stop this infestation.

(b) Name the vector used for introducing the nematode specific gene

in tobacco plant.

g D
SECTION D

(a) AEE BH 99 @S F TH-UF I o TERT 5 o a9 @

Sta-fafawar &t @ 59 @1 & @ | e
(b) Sio-fafaydr & dw@wr & o faw fofgal ggmEw |

HAgan
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(a) UHAUHUSH (LrEHER) ¥ eH 1 e Fed da & 2 Y uee
ST W F41 9T IgdT 2

(b) f&dt weig @a-gE@er & i DDT & S9-3@dd 59 ¥R 8 e,
JIET | U BN § uRrE @ e R yeR weifad @t @ 2

(a) Taking one example each of habitat loss and fragmentation,
explain how are the two responsible for biodiversity loss.

(b)  Explain two different ways of biodiversity conservation.

OR

(a) What depletes ozone in the stratosphere ? How does this affect
human life ?

(b) Explain biomagnification of DDT in an aquatic food chain. How
does it affect the bird population ?

29, T RE MR “a” ¥ "% & ol § o9 g § g4 arclt iRl weasi &t
A S T €

(b)

(c)
(d)

(a)
(b)

571

39 S fod W yguE Sifeg e Side wgfeaw qular @ qur 39 d
(freged) WA @& 99 fafer FEd swe a3 Tifaa 8 @ |

Fig wfeam F1 fafte siqemdl & FaRT | 39 W THYE ¥ ¥ER
yIfed giar 8 2 S e e w4 @ 2

“d” I “e” IEEE § F HW T ?

AT 2o & TF @o9 THifhd IRE FET | 5
g

smgaerst (o) § 3 9 eriﬁcusuﬁrﬁﬂ?raﬁraﬂw% ?
T fafeq Fifvamel g (@iEeh) SR |

frsl T 3far Yo THEASE A F L.S. F W THifhd 3G FRT |

9 P.T.0}



30.
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The following is the illustration of the sequence of ovarian events

“a” to 1”7 in a human female :

e Fany
@ e
& %
-

a b c- d ’ £ g P

(a)  Identify the figure that illustrates corpus luteum and name the
pituitary hormone that influences its formation.

(b) Specify the endocrine function of corpus luteum. How does it
influence the uterus ? Why is it essential ?

(c) What is the difference between “d” and “e” ?

(d) Draw a neat labelled sketch of Graafian follicle.

OR

(a) Why is fertilisation in an angiosperm referred to as double
fertilisation ? Mention the ploidy of the cells involved.

(b) Draw a neat labelled sketch of L.S. of an endospermous monocot
seed.

Yefw ey g0 Deieissy @ W HU T @ & ave FifSe | 3EE g
frrer U fred & faa=a s |

Aq4ar

(a) . UEGH Fomew H dwmEl & U7 F UH fGueE (32) ¥ FU OH oW W
THFHH HH0T TART | 39 0 & F, U 9% @ W ame o

HIfT |

(b) ITH YFR F THOT ¥ FoR W G9E4 a0 SNg fEm #HE-ee 9 F,
fafam | '

(c) fema Wahwwr § Fo, W & weomedl U 9 yoR fie gr g ?
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